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QUESTION 1

Which table type is always nonlogging?
A. RAW

B. TEMP

C. STATIC

D. STANDARD

Correct Answer: A

QUESTION 2

Which of the following can be used to move the physical log?
A. onlog

B. ondblog

C. onspaces

D. onparams

Correct Answer: D

QUESTION 3

Which two database objects can be created using fragmentation? (Choose two.)
A. view

B. table

C. index

D. trigger

E. synonym

Correct Answer: BC

QUESTION 4

Which of the following environment variables allow an application to specify formatting of locale-sensitive data such as
of date and currency values?
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A. DB_LOCALE

B. GLS_LOCALE

C. CLIENT_LOCALE
D. SERVER_LOCALE

Correct Answer: C

QUESTION 5

Which of the following statements is true about referential integrity?

A. Primary and foreign key values must be integers.

B. You must explicitly define constraint names for primary and foreign key columns.

C. Arow in a table cannot be deleted if it contains a foreign key value that exists as a primary key value in the
referenced table.

D. A row in a table cannot be deleted if it contains a primary key value that is referenced by a foreign key value in
another table.

Correct Answer: D

QUESTION 6

When you execute an INSERT statement, the database server will insert a NULL value into any column that meets
which two conditions? (Choose two.)

A. Columns that are used in indexes.

B. Columns that are used in constraints.

C. You provide no value for a specific column.

D. Where a zero is specified in the VALUES clause of a serial column.

E. Where you specify the NULL keyword in the VALUES clause for a specific column.

Correct Answer: CE

QUESTION 7
Which of the following methods can be used to tranfer data in EXPRESS mode?
A. dbload

B. external tables
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C. onload/onunload
D. dbexport/dbimport

Correct Answer: B

QUESTION 8

Which isolation level is appropriate if you do not want your query to place any locks?
A. Dirty Read

B. Cursor Stability

C. Committed Read

D. Repeatable Read

Correct Answer: A

QUESTION 9

You create a table with the statement shown below: CREATE TABLE foo(col INTEGER) In which dbspace will the table

reside?

A. in a temporary dbspace

B. in the default dbspace that is defined in onconfig

C. in the dbspace where the current database was created

D. in the dbspace specified by the IFX_DBSPACE environment variable

Correct Answer: C

QUESTION 10

From the items listed below, what is the smallest granularity of item which may be restored?
A. a single table

B. a single dbspace

C. an entire instance

D. a set of dbspaces

Correct Answer: A
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QUESTION 11

You want to use sglhosts file /newlocation/newsglhosts. Which of the following is true?
A. sglhosts file must be called sqglhosts

B. set INFORMIXSQLHOSTS variable to /newlocation/sglhosts

C. set INFORMIXSQLHOSTS variable to /newlocation/newsglhosts

D. sqlhosts file must be defined under $INFORMIXDIR/etc/ directory

Correct Answer: C

QUESTION 12

Which command could be used to display the definition of user-defined and complex data types?
A. onstat -g smb

B. oncheck -cc database_name

C. oncheck -pB database_name

D. dbschema -u all -d database_name

Correct Answer: D

QUESTION 13

Which statement can be used to roll back SQL statements within a transaction?
A. END WORK

B. COMMIT WORK

C. ROLLBACK WORK

D. ROLLBACK WORK TO SAVEPOINT

Correct Answer: D

QUESTION 14

Which technology can be used to execute Data Definition Language (DDL) command across multiple instances?
A. Flexible Grid

B. Enterprise Replication

C. High Availability Cluster
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D. High Availability Data Replication

Correct Answer: A

QUESTION 15

Click the Exhibit button.

CREATE DATABASE dt3;

CREATE TABLE t1(c1 CHAR{10), c2 INT CHECK
(2510

INSERT INTO t1 VALUES ('a' 3);
INSERT INTO U] WALLUES ('D' 4,
INSERT INTO t1 VALUES ('c',5);
INSERT INTO t1 VALUES ('d' B);
INSERT INTO t1 VALUES ('d',7);
SELECT * FROM t1;

The query.sql file contains the information shown in the exhibit. The following command is run: dbaccess ?query.sql
How many rows will be returned by the select query?

Al
B.2
C.3
D.4

Correct Answer: B
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